PURANIRES ARRHTIVES

Compléte la pyramide de fagcon @ ce que chaque case contienne
la somme des deux cases qui se trouvent au-dessous.
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PURANIRES ARRHTIVES
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Compléte la pyramide de fagcon @ ce que chaque case contienne
la somme des deux cases qui se trouvent au-dessous.
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PURANIRES ARRHTIVES

Compléte la pyramide de fagcon @ ce que chaque case contienne
la somme des deux cases qui se trouvent au-dessous.
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PURANIRES ARRHTIVES

Compléte la pyramide de fagcon @ ce que chaque case contienne
la somme des deux cases qui se trouvent au-dessous.
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